A8010
A8810

Sugar cane harvester

SERVICE MANUAL

Part number 48063612

w CASE N

May 2018 AGRICULTURE



CASE Hi

AGRICULTURE

SERVICE MANUAL

8010 FPT engine, TIER 3 - SR - Latin America [PRCY8010KHPA03554-
-], 8010 FPT engine, TIER 3 - SR [PRCY8010KHPA03554- - ], 8010 FPT
engine, TIER 3 - SR - International [PRCY8010KHPA03554- - ], 8010 FPT
engine, TIER 3 - SR [PRCY8010KHPA03554- - ], 8810 FPT engine, TIER
3 - SR - Latin America [PRCY8810CHPA03579- - ], 8810 FPT engine,
TIER 3 - SR [PRCY8810CHPA03579- - ], 8810 FPT engine, TIER 3 - SR -
International [PRCY8810CHPA03579- - ], 8810 FPT engine, TIER 3 - SR
[PRCY8810CHPA03579- - ]

48063612 04/05/2018

EN



Link Product / Engine

Product

Market Product

Engine

8010 FPT engine, TIER
3 - SR - Latin America
[PRCY8010KHPA03554- - ]

Latin America

F2CFP613C*H003

8010 FPT engine, TIER 3 - SR
[PRCY8010KHPA03554- - ]

North America

F2CFP613C*H006

8010 FPT engine, TIER
3 - SR - International
[PRCY8010KHPA03554- - ]

Asia Pacific

F2CFP613C*H006

8010 FPT engine, TIER
3 - SR - International
[PRCY8010KHPA03554- - ]

Middle East Africa

F2CFP613C*H006

8010 FPT engine, TIER
3 - SR - International
[PRCY8010KHPA03554- - ]

Australia New Zealand

F2CFP613C*H006

8010 FPT engine, TIER 3 - SR
[PRCY8010KHPA03554- - ]

Europe

F2CFP613C*H006

8810 FPT engine, TIER
3 - SR - Latin America
[PRCY8810CHPA03579- - ]

Latin America

F2CFP613C*H003

8810 FPT engine, TIER 3 - SR
[PRCY8810CHPA03579- - ]

North America

F2CFP613C*H006

8810 FPT engine, TIER
3 - SR - International
[PRCY8810CHPA03579- - ]

Asia Pacific

F2CFP613C*H006

8810 FPT engine, TIER
3 - SR - International
[PRCY8810CHPAD3579- - ]

Australia New Zealand

F2CFP613C*H006

8810 FPT engine, TIER
3 - SR - International
[PRCY8810CHPA03579- - ]

Middle East Africa

F2CFP613C*H006

8810 FPT engine, TIER 3 - SR
[PRCY8810CHPAQ3579- -]

Europe

F2CFP613C*H006

48063612 04/05/2018




Contents

INTRODUCTION
ENgINe. o e 10
[10.001] Engine and CrankCase .. ..........ouiuiuiitiii e et eaans 10.1
[10.216] FUEItaNKS . ..ottt ettt et et e et et 10.2
[10.206] FUEl fIlters .. ..o e e ettt 10.3
[10.202] Air cleaners and liNES . .......oii i e e e et 10.4
[10.400] Engine cooling System .. ... .o i e 10.5
[10.414) Fan and AriVe . .......ouiii it ettt e e e et 10.6
[10.310] AftEICOOIT. . ... .ot e e e 10.7
[10.304] Engine lubrication System . ...... .. ... 10.8
PoWer COUPIING .. ..o e eaa 19
[19.121] Pump-drive assembly . ... e e e 19.1
Front axle system ... 25
[25.400] Non-powered front axle . ....... ..o 251
Rear axle System ... 27
[27.120] Planetary and final drives ........ ... e 271
Hydrostatic drive..... ..o 29
[29.100] Transmission and steering hydrostaticcontrol ................ ... ... .. ... ... 29.1
[29.218] Pump and motor COMPONENtS. . ... ..ot aaans 29.2
Brakes and controls ... 33
[33.202] Hydraulic service brakes . ... ..o e 33.1
HydrauliC SYStemsS. ..o 35
[35.000] Hydraulic SysStemsS. .. ... .ot e 35.1
[35.300] Reservoir, cooler, and filters. . ... e 35.2
[35.104] Fixed displacement pumMIP .. ...t e e 35.3
[35.752] Hydraulic fan drive cooling system. ... o 35.4

48063612 04/05/2018



[35.965] Chopper control system . ... ... e 35.5

[35.370] Tracks suspension hydraulic system. ... ... i anns 35.6
[35.670] Topper hydrauliC SYStem ... e 35.7
[35.672] Crop divider hydraulic system. ... . ... e e 35.8
[35.674] Base cutter hydraulic system .......... . 35.9
[35.676] Knock-down rollers hydraulic system ... i 35.10
[35.678] Butt lifter roller hydraulic system ... ... 35.11
[35.680] Finned roller hydraulic system ... i 35.12
[35.682] Billet elevator hydraulic system ... 35.13
S (Y= 1 41
[41.101] Steering CONtrol . ... et e 41.1
[41.200] Hydraulic control components. ........ ... i 41.2
[41.216] CYliNAErS . ..o e et 41.3
WINEEIS ... e 44
[44.511] Front WheelS. . ...ttt 44 .1
[44.520] Rear Wheels . .. ... e e e 44.2
Tracks and track SUSPENSION ........c.oiiiiiiii e, 48
[48.130] Track frame and drivingwheels ........... .. e 48.1
[48.100] TracCKs . ...ttt e e 48.2
[48.134] Track teNSION UNILS . ... ..ot et et 48.3
Cab climate Control ... ..o 50
[50.100] HEAtNG .+« v eee et et e e e e e e e e e e 50.1
[50.200] Air CONAItIONING . . ..ottt e e et e e e 50.2
Electrical Systems .......coiiii 55
[55.100] Harnesses and CONNECIOrS. . ... ..ottt e e aeaes 55.1
[95.30 1] Aernator. . ... e 55.2
[55.302] Battery. . ..ot e 55.3
[55.518] Wiper and washer system. ... ... e 55.4

48063612 04/05/2018



[65.404] External lighting . ... .o 55.5

[65.514] Cab lighting . .....oooii et 55.6
[65.DTC] FAULT CODES. .. ...ttt ettt et 55.7
Attachments/Headers........ ... 58
[58.130] Attachment/Header frame. ... ... e 58.1
Product feeding ........co.oniii 60
[60.370] BaseCUHer. ... ..o 60.1
[60.390] Conveyor roller train. . ... .. ... e 60.2
CROPPING e 64
[64.130] Drum gearbOX . . ...ttt e 64.1
[64.160] CrOp PrOCES SO . . ..ttt ittt e ettt e et e e e et e et e e e e e e 64.2
ClEaANING . e e 74
[74.204] Lower eXIraCtors . ...t e e e et e 74.1
Crop storage / Unloading ........ccoouiiiiiiiiicc e 80
[80.420] Billet €levator. . ... 80.1
Platform, cab, bodywork, and decals..................coooiiiinn 90
[90.150] Cab ...t e 90.1
[90.151] Cab INteriOr. ..o e 90.2

48063612 04/05/2018



CASE Hi

AGRICULTURE

INTRODUCTION




Contents

INTRODUCTION
Security lock, transport and service - Side safety locks ................c.o L 3
Topper hydraulic cylinder - Safety rules - Topper safety lock .........................iii.t. 4
Safety rules - Engine access - Grips inside the engine compartment .......................... 5
Personal safety - Safety anchor points ....... ... i 6
Torque - Minimum tightening torques for normal assembly (*) ...t 8
Torque - Standard torque data for hydraulic connections (*) ..., 13
CONSUMADIES ... 20

(*) See content for specific models

48063612 04/05/2018
2



INTRODUCTION

Security lock, transport and service - Side safety locks

When you perform any maintenance procedures on the
harvester, it is mandatory that you use the safety locks

(1).

1. With the machine parked on a level and firm surface,
use the hydraulic suspension control to suspend the
machine at the desired height.

2. Hold the lock (1) with one hand. Then remove the
cotter pins (2) and the pins (3).

NOTICE: The locks (1) are quite heavy. Be careful
not to accidentally drop the locks when you remove
the pins (3).

3. Lower the locks (1) to the ground.
4. Install the pins (2) and the cotter pins (3).

NOTE: On ground that is wet and/or not compacted,
the locks (1) may sink and cause the harvester to
lower. Look for a proper location to safely support the
locks.

NOTICE: Before you go under the harvester, always
make sure that the pins (2) are properly installed in the
holes of the locks (1).

NOTE: Before you operate the harvester, always
check that the locks (1) are properly retracted and
locked, as shown in figure 1. SOIL17SCO0351AA 2

5. Use the hydraulic suspension control to fully lower the
machine.

48063612 04/05/2018
3



INTRODUCTION

Topper hydraulic cylinder - Safety rules - Topper safety lock

When you perform any maintenance procedures on the
harvester, and more specifically on the line dividers and
the front rollers, it is essential that you use the safety lock
(1) on the topper if you need to raise the topper to perform
the procedure.

1.

With the machine parked on a level and firm surface,
completely suspend the topper.

Pull the handle (2) all the way to unseat the lock pin
(3) from the rear hole of the cradle (4).

Fit the lock (1) over the lift cylinder rod (5). See Figure
2.

With the latch (1) in the position shown, turn the handle
(2) slightly upward and release the handle to seat the
lock pin (3) in the front hole of the cradle (4).

NOTICE: Before you go underneath the suspended
topper, always check that the lock (1) is properly posi-
tioned and secured.

To lower the topper, secure the lock (1) in the operating
position, as shown in figure 1.

/ﬂ E) ||||||||||I|!!| VAN '
LA
= 3

SOIL17SC00778AA 1

SOIL17SC00779AA 2

48063612 04/05/2018

4



INTRODUCTION

Safety rules - Engine access - Grips inside the engine compartment

The harvester is equipped with four grips (1) in the engine \% s
compartment, two on each side, as specified below. NS

Whenever you perform a procedure inside the engine
compartment, try to support yourself by holding on the
grips (1).

ATTENTION: To prevent the risk of burns, cuts, or ac-
cidental disconnections, do not hold onto the hydraulic
hoses or other components of the assembly. To do so
may result in accidents with minor or moderate injury.

hv ==
« Figure 1 — Engine compartment on the right-hand side MRRRR \\ um”’,

of the machine. et st Tietecimi s

SOIL17SC00744AA 1

« Figure 2 — Pumps compartment on the left-hand side of
the machine.

|
DR AV

TN WL

AR N —

.
\\'\.\3‘
WA ‘__-_

SOIL17SC00745AA 2

48063612 04/05/2018
5



INTRODUCTION

Personal safety - Safety anchor points
A WARNING

Fall hazard!
Clean the steps and access handles to remove all traces of grease, oil, mud, and ice (in winter).
Failure to comply could result in death or serious injury.

WO0139A

A WARNING

Fall hazard!

Take correct measures to make sure steps, ladders, and platforms remain clean and clear of debris or
foreign substances.

Failure to comply could result in death or serious injury.

W1183A

ATTENTION: Before you perform any maintenance work on the highest parts of the harvester, such as the cab and
the primary hood extractor, check and familiarize yourself with the following safety anchor points, to which you can
attach safety straps when you get on and off of the machine.

The harvester is equipped with various safety anchor
points, which should be used when you perform ad-
justments or maintenance on the highest parts of the
machine, in order to prevent falls and personal injury.

Identification, location, and function of the available
anchor points:

« Front hood grab handle (1): This can be used as grip or
to secure cables or straps with a hook, for work at the
top of the cab, such as changing bulbs.

« Eye bolts on the side shields (2): For the attachment of
cables or straps with a hook.

SOIL17SC00313AA 1

[T

SOIL17SC00803AA 3

48063612 04/05/2018
6



INTRODUCTION

- Handles on the hood frame (3): For the attachment of —
cables or straps with a hook, for work at the top of the ﬂ ﬂ
hood, such as checking the extractor hydraulic drive
motor.

NOTE: Laws that govern work at heights vary by coun-
try, so seek the necessary guidance from regulatory
agencies. If there is a specific regulation at the state
level, or even at the municipal level, follow this regula-
tion the same way.

NOTE: The owner of the machine is responsible for
providing operators and mechanics with the necessary
safety guidelines on work at heights, through execution i il
of a training program. SOIL17SC00804AA 4

NOTE: The owner must provide operators and mechan-
ics with all necessary PPE, as required by the regula-
tions in effect, such as: seat belt, cables, straps, life
line, helmets, etc. It is also the owner’s responsibility to
supervise the correct use of these safety features.

NOTE: Operators and mechanics are responsible for
correctly using the proper PPEs, in accordance with the
guidelines of the regulations in effect.

ATTENTION: Only use safety devices in perfect work-
ing condition, free of damage.

48063612 04/05/2018
7



INTRODUCTION

Torque - Minimum tightening torques for normal assembly

ANZ --- APAC --- LA - MEA - NA - WE

Harvester

METRIC NON-FLANGED HARDWARE

NOM. LOCKNUT | LOCKNUT
SIZE CL.8 CL.10
CLASS 8.8 BOLT and CLASS 10.9 BOLT and W/CL8.8 W/CL10.9
CLASS 8 NUT CLASS 10 NUT BOLT BOLT
PLATED PLATED
UNPLATED W/ZnCr UNPLATED W/ZnCr
M4 2.2 N-_m (191b | 2.9 N-_m (261b | 3.2 N-_m (281b | 4.2 N-_m (371b 2 N-m (18 Ib in) ?.9 N-m (26 Ib
in) in) in) in) in)
M5 4.5 N-_m (40Ib | 5.9 N-_m (521b | 6.4 N-_m (57 b | 8.5 N-m (75 1b 4N-m (36 Ib in) .5.8 N-m (511b
in) in) in) in) in)
M6 7.5N'-m (661b | 1I0N-m (891b | 1M N-m (96Ib |15N-m (1281Ib | 6.8 N-m (601Ib [10 N-m (89 Ib
in) in) in) in) in) in)
M8 18 N'-m (163 1b [ 25N-m (217 1b | 26 N-m (2341b | 35N-m (3111b | 177 N-m (151 1b |24 N-m (212 Ib
in) in) in) in) in) in)
M10 |37 N-m (27 Ib ft) 49 N-r;:)(36 b 52 N-m (38 Ib ft) 70 N-r;:)(51 Ib | 33 N-r;:)(25 Ib ?3 N-m (351b
M12 |64 N-m (47 Ib ft) 85”";)(63 ® 191 N-m (67 Ib ft) | 121 N'fr:; (9016 | 58 N'rfrt')(43 b ?g N'm (811b
M16 158 N-m (116 Ib 210 N'm 225N'm (166 1b|301 N-m (222 Ib (143 N-m (106 Ib|{205 N-m (151 Ib
ft) (155 Ib ft) ft) ft) ft) ft)
M20 319N-m (2351b 425 N-m 440 N-m (3251b|587 N-m (433 1b (290 N-m (214 Ib {400 N-m (295 Ib
ft) (313 Ib ft) ft) ft) ft) ft)
M24 551 N'-m (410 Ib 735N'm 762 N-m (560 Ib 1016 N°-m 501 N'-m (370 1b|693 N-m (510 Ib
ft) (500 Ib ft) t) (750 Ib ft) ft) ft)

NOTE: M4 through M8 hardware torque specifications are shown in pound-inches. M10 through M24 hardware torque
specifications are shown in pound-feet.

48063612 04/05/2018

8




INTRODUCTION

METRIC FLANGED HARDWARE

NOM. CLASS 8.8 BOLT and CLASS 10.9 BOLT and LOCKNUT LOCKNUT
SIZE CLASS 8 NUT CLASS 10 NUT CL.8 CL.10
W/CL8.8 W/CL10.9
BOLT BOLT
PLATED PLATED
UNPLATED W/ZnCr UNPLATED W/ZnCr
s | 24Nm @116 | 32N-m (281b | 35N-m (3116 | 46N-m (411b | 22N-m (191b [3.1 N-m (27 Ib
in) in) in) in) in) in)
s | 49N'm(@31b | 6.5N-m (581b | 7.0N-m (621b | 9.4N-m (831b | 4.4 N-m (39 1b [6.4N-m (57 Ib
in) in) in) in) in) in)
s | 83N-m (7316 | 11N-m (96 1b | 12N-m (1051b | 16 N-m (1411b | 7.5 N-m (66 Ib |11 N-m (96 Ib
in) in) in) in) in) in)
s | 20N'm (17910 | 27 N'm (240 1b | 29 N-m (257 Ib | 39 N-m (343 1b | 18 N-m (163 Ib |27 N-m (240 Ib
in) in) in) in) in) in)
M10 |40 N-m (301b ft)| N";':)(‘") b {57 N-m @210 ft)| 77 N'Tt)(ss b {37 N-m (27 Ib ft) | 53 N-m (39 I ft)
m12 |70N-m(s2iby| O N (6910 | 100N (74T | TSENE OB 63 . (47 1b )| 01 N-m (67 10 1)
\11g | 174 N-m (128 1b [231 N-m (171 1b| 248 N-m (183 Ib[331 N-m (244 1b 158 N-m (116 Ib | 226 N-m (167 b
ft) ft) ft) ft) ft) ft)
‘20| 350 N'm (259 I [467 N-m (345 b 484 N-m (357 Ib| 645 N-m (476 Ib| 318 N-m (235 Ib | 440 N-m (325 Ib
ft) ft) ft) ft) ft) ft)
"1>s | 607 N'm (447 1 [809 N-m (597 1b[838 N-m (618 1b| 1118 N-m | 552 N-m (407 Ib
ft) ft) ft) (824 Ib ft) ft)

IDENTIFICATION

Metric Hex head and carriage bolts, classes 5.6 and up

1.

Manufacturer's Identification

2. Property Class

Metric Hex nuts and locknuts, classes 05 and up

20083680 1

20083681 2

48063612 04/05/2018

9




INTRODUCTION

1. Manufacturer's Identification

2. Property Class

3. Clock Marking of Property Class and Manufacturer's Identification (Optional), i.e. marks 60° apart indicate Class
10 properties, and marks 120° apart indicate Class 8.

INCH NON-FLANGED HARDWARE

NOMINAL | SAE GRADE 5 BOLT | SAE GRADE 8 BOLT (';'OCKNUT e
SIZE and NUT and NUT 72 Bill (59 || (SRS Uil (S
BOLT BOLT
UN- UN-
PLATED | PLATED PLATED PLATED
or W/ZnCr or PLATED W/ZnCr
PLATED GOLD SILVER GOLD
SILVER
8N-m (711b [11N-m©@71b| 12N-m 16 N-m — [12.2N-m (109 1b
1/4 in() in)( (106 bin) | (1421bin) |8ON'M(7SIbin) in)(
oo 17 N'm 23N'm 24 N'm 32N'm [17.5N-m (1551b | 25N-m (220 1b
(150 Ib in) (204 1b in) (2121b in) (283 Ib in) in) in)
3/8 30N ?:)(22 Ib (gg I"L'f‘:) 43N r;t1)(31 lb|S7N 'f't‘)(42 bl 31 N-m (23 Ib ft) | 44 N-m (33 Ib ft)
7116 48 N";t‘)(% Ib (ig I"t’f't') 68 N-r;t1)(50 Ib91 N"f':)(w | 50 N-m (37 1b ft) | 71 N-m (53 Ib ft)
74N'm (541b| 98 N'm 104N'm | 139N'm 108 N-m (80 Ib
112 ft)( 731bft) | (77ibf) | (1031 | 7ENM (5610 ) (
107N'm | 142N'm | 150N-m | 201N-m 156 N-m (115 Ib
9/16 (791bft) | (1051bft) | (111Ibf) | (148 |1TTN'm(B21bfY) ft)(
s 147N'm | 196N-m | 208N-m | 277N-m | 153 N-m (113 1b | 215 N-m (159 Ib
(1081bft) | (1451bf) | (1531bf) | (2041b ft) ) )
" 261N'm | 348N-m | 369N-m | 491N-m | 271 N-m (200 Ib | 383 N-m (282 Ib
(1931bf) | (2571bf) | (@721bf) | (3621b ) ft) ft)
” 420Nm | 561N-m | 594N-m | 791N-m | 437 N-m (323 1b | 617 N-m (455 Ib
(3101bf) | (#131bf) | (438Ibf) | (5841b ) ft) )
1 630N'm | 841N-m | 890N-m | 1187 N-m | 654 N-m (483 Ib | 924 N-m (681 Ib
4651bft) | (6201bft) | (6561bft) | (8751b ft) ) )

NOTE: For Imperial Units, 1/4 in and 5/16 in hardware torque specifications are shown in pound-inches. 3/8 in
through 1 in hardware torque specifications are shown in pound-feet.

48063612 04/05/2018

10




INTRODUCTION

INCH FLANGED HARDWARE

NOM- LOCKNUT LOCKNUT
INAL SAE GRADNEU‘-SI_ BOLT and | SAE GRA[:‘]EU-Br BOLT and GrE W/ Gr5 | GrG W/ Gr8
SIZE BOLT BOLT
UNPLATED PLATED | UNPLATED PLATED
or PLATED W/ZnCr or PLATED W/ZnCr
SILVER GOLD SILVER GOLD
74 |oNm @0 1bm)| 2 N-r?n()106 Ib| 13 N-r:1n§115lb 17 N-rinn()150 B g nm 7116 m) | 12 N-ni1n()106 Ib
c1g | 19N'm (168 1b | 25 N-m (221 1b [ 26 N-m (230 Ib | 35 N-m (310 1 | 17 N-m (1501b | 24 N-m (212 1b
in) in) in) in) in) in)
s | 3 N-rfr:)(25 Ib | 44 N-rfr:)(33 Ib | 47 N-r;rtl)(35 Ib | 63 N-r;)(46 1B | 30 Nom (22 16 6 | 43 N-m (3216 70
e | 3 N-l;r:)(39 Ib | 71 N-rfr:)(sz Ib | 75 N-r;:)(55 Ib | 100 N-frtr; (7416 | 45 Nom (35 1b 16| 68 N-m (50 Ib 10
81 N-m (601b | 108 N-m (801b| 115 N'm (851b| 153 N'm _ 104 N-m (77 Ib
12 ft) ft) ft) 1131 f) | ANMGSIbH ft)
17N-m@861b| 156 N'm 165 N-m 221 N'm _ 157 N'm (116 Ib
9/16 ) (115 Ib ) (122 Ib ft) (1631bft) |106N'm(78Ibft) )
o |162Nm (11916  216Nm 228 N-'m 304N-m | 147 N-m (108 Ib | 207 N-m (153 Ib
ft) (159 Ib ) (168 Ib ft) (225 Ib ) ft) ft)
a2 |287N'm 21216  383N-m 405 Nm 541N'm | 261 N-m (193 Ib | 369 N-m (272 Ib
ft) (282 Ib ft) (299 Ib ft) (399 Ib ft) ) ft)
5 |462N-m 34116 617 Nm 653 N'm 871N'm | 421 N-m (311 Ib | 594 N-m (438 Ib
) (455 Ib ft) (482 Ib ft) (642 Ib ft) ft) ft)
. [693N-m(5121b| 925N-m 979 N-m 1305N'm | 631 N-m (465 Ib | 890 N-m (656 Ib
ft) (682 Ib ft) (722 Ib ) (963 Ib ft) ft) ft)

IDENTIFICATION

Inch Bolts and free-spinning nuts

G QW

&

20083682 3
Grade Marking Examples

SAE Grade Identification

1 Grade 2 - No Marks 4 Grade 2 Nut - No Marks
2 Grade 5 - Three Marks 5 Grade 5 Nut - Marks 120° Apart
3 Grade 8 - Five Marks 6 Grade 8 Nut - Marks 60° Apart

48063612 04/05/2018
11




INTRODUCTION

Inch Lock Nuts, All Metal (Three optional methods)

Grade Identification

20090268 4

Grade Corner Marking Method (1) Flats Marking Method (2) Clock Marking Method (3)
Grade A No Notches No Mark No Marks
Grade B One Circumferential Notch Letter B Three Marks
Grade C Two Circumferential Notches Letter C Six Marks

48063612 04/05/2018
12




INTRODUCTION

Torque - Standard torque data for hydraulic connections

Harvester ANZ --- APAC --- LA --- MEA --- NA --- WE

General information

» Hydraulic connections require a minimum assembly torque in order to provide zero leakage at rated pressure with
adequate fatigue resistance. Over-torquing of a hydraulic connection can also lead to leakage or failure. For some
connections, CASE IH requires a different torque value than is listed in the ISO and SAE standards.

« The torque values in this document should be used whenever possible or applicable.

NOTICE: Always follow the instructions in this manual for specific torque values when you service components.
The information in this section is for general guidance only when a procedure contains no specific torque value.

Tolerance

« The tolerance for all torque values is + 10%. This tolerance must include all assembly variation, not only the torque
wrench repeatability.

Lubrication

Application of grease or other lubricants to hydraulic connectors should be avoided. If clean hydraulic oil is already
on the connection, it is not required to remove the oil. Generally, application of grease:

- May cause a significant change in the torque required to properly tighten the connection.

- May reduce the connection’s resistance to vibration.

» Excessive grease may displace an elastomer seal during tightening.

- Grease extrusion when connection is tightened may be mistaken for leakage.

CASE IH products generally use O-Ring Boss (ORB) connectors that have Teflon™-coated O-rings, eliminating the
need for O-ring lubrication during installation. For connections which are made into aluminum manifolds or with stain-
less steel connectors, it may be required to apply a lubricant to prevent galling.

Use of LOCTITE® and other thread-locking compounds is prohibited. These compounds:

- May cause a significant change in the torque required to properly tighten the connections.

« Reduce the serviceability of the joint.

« May prevent the O-ring from properly sealing if the compound gets on the O-ring.

48063612 04/05/2018
13



INTRODUCTION

Torque values for metric O-Ring Boss (ORB) port connections

S-Series * L-Series **
Metric Ferrous Non-Ferrous Ferrous Non-Ferrous
thread N-m(lbft) ¥10% | N-m(lb ft) *10% | N-m (lb ft) + 10% N-m (lb ft) ¥ 10%
M8 x 1 10.5 (7.7) 6.3 (4.6) 8.5 (6.3) 5 (3.7)
M10 x 1 21 (15.5) 12.5 (9.2) 15.5 (11.4) 9.3 (6.9)
M12 x 1.5 37 (27.3) 22 (16.2) 27 (19.9) 6 (11.8)
M14 x 1.5 47 (34.7) 28 (20.7) 37 (27.3) 2 (16.2)
M16 x 1.5 58 (42.8) 35 (25.8) 42 (31) 5 (18.4)
M18 x 1.5 74 (54.6) 44 (32.5) 47 (34.7) 8 (20.7)
M22 x 1.5 105 (77.4) 63 (46.5) 63 (46.5) 38 (28)
M27 x 2 178 (131.3) 107 (78.9) 105 (77.4) 63 (46.5)
M30 x 2 225 (166) 135 (99.6) 136 (100.3) 82 (60.5)
M33 x 2 325 (239.7) 195 (143.8) 168 (123.9) 101 (74.5)
M42 x 2 345 (254.5) 207 (152.7) 220 (162.3) 132 (97.4)
M48 x 2 440 (324.5) 264 (194.7) 273 (201.4) 164 (121)
M60 x 2 525 (387.2) 315 (232.3) 330 (243.4) 198 (146)

* S-Series connectors are used with O-Ring Face Seals (ORFS).
** L-Series connectors are used with 37° flare.

Torque values for metric O-Ring Boss (ORB) port plugs

Ferrous Non-ferrous

Metric Internal hex External hex ] o

thread N-m (Ib ft) + 10% N-m (Ib ft) £ 10% N-m (Ib ft) £ 10%

M8 x 1 8.5 (6.3) 10 5(7.7) 6.3 (4.6)

M10 x 1 16 (11.8) 1.(15.5) 12.5 (9.2)
M12 x 1.5 23 (17) 7 (27.3) 22 (16.2)
M14 x 1.5 47 (34.7) 7 (34.7) 28 (20.7)
M16 x 1.5 58 (42.8) 8 (42.8) 35 (25.8)
M18 x 1.5 74 (54.6) 4 (54.6) 44 (32.5)
M22 x 1.5 105 (77.4) 105 (77.4) 63 (46.5)

M27 x 2 178 (131.3) 178 (131.3) 107 (78.9)

M30 x 2 225 (166) 225 (166) 135 (99.6)

M33 x 2 325 (239.7) 325 (239.7) 195 (143.8)

M42 x 2 345 (254.5) 345 (254.5) 207 (152.7)

M48 x 2 440 (324.5) 440 (324.5) 264 (194.7)

M60 x 2 525 (387.2) 525 (387.2) 315 (232.3)

48063612 04/05/2018

14




INTRODUCTION

Torque values for port connections (British Standard Pipe Parallel (BSPP) thread ports and stud ends)

Metric tube
Outside Diameter (OD) Ferrous Non-Ferrous
mm (in)
BSPP
thread S-Series L-Series S-Series L-Series
G- Gas: S-Series * | L-Series ** | N'-m (Ib ft) | N-m (lb ft) | N-m (Ib ft) | N-m (lb ft)
A- medium +10% +10% +10% +10%
coarse threads
G 1/8 A - 6 (0.236) - 21 (15.5) - 12.5 (9.2)
6 (0.236) 8 (0.315)
G1/4 A or or 63 (46.5) 53 (39.1) 38 (28) 32 (23.6)
8 (0.315) 10 (0.394)
10 (0.394)
G 3/8 A or 12 (0.472) 95 (70.1) 84 (62) 57 (42) 50 (36.9)
12 (0.472)
5 (0.591)
G12A 16 (0.630) or 136 (100.3) 105 (77.4) 82 (60.5) 63 (46.5)
18 (0.709)

G3/4 A 20 (0.787) 22 (0.866) 210 (154.9) | 210 (154.9) 126 (92.9) 126 (92.9)
G1A 25 (0.984) 8 (1.102) 400 (295) 400 (295) 240 (177) 240 (177)
G11/4A 30 (1.181) 35 (1.378) 525 (387.2) | 525(387.2) | 315(232.3) | 315(232.3)
G112A 38 (1.496) 2 (1.654) 660 (486.8) | 660 (486.8) | 396 (292.1) | 396 (292.1)

* S-Series connectors are used with O-Ring Face Seals (ORFS).

** L-Series connectors are used with 37° flare.

Torque values for metric port connections (Metric face-seal ports and stud ends)

Metric tube
Outside Diameter (OD) Ferrous Non-Ferrous
mm (in)
Metric S-Series L-Series S-Series L-Series
thread S-Series * | L-Series *™* | N'm (Ibft) | N-m(lb ft) | N-m (Ib ft) | N-m (Ib ft)
+ 10% *10% *10% +10%

M10 x 1 - 4 (0.157) - 21 (15.5) — 12.5 (9.2)
M12 x 1.5 4 (0.157) 6 (0.236) 47 (34.7) 32 (23.6) 28 (20.7) 19 (14)
M14 x 1.5 5 (0.197) 7 (0.276) 63 (46.5) 53 (39.1) 38 (28) 32 (23.6)
M16 x 1.5 7 (0.276) 9 (0.354) 84 (62) 63 (46.5) 50 (36.9) 38 (28)
M18 x 1.5 8 (0.315) 11 (0.433) 105 (77.4) 84 (62) 63 (46.5) 50 (36.9)
M20 x 1.5 10 (0.394) - 147 (108.4) - 88 (64.9) -
M22 x 1.5 12 (0.472) 14 (0.551) 158 (116.5) 147 (108.4) 95 (70.1) 88 (64.9)
M26 x 1.5 - 18 (0.709) - 210 (154.9) - 126 (92.9)
M27 x 1.2 16 (0.630) — 210 (154.9) 126 (92.9) -

M33 x 2 20 (0.787) 23 (0.906) 400 (295) 400 (295) 240 (177) 240 (177)
M42 x 2 25 (0.984) 30 (1.181) 525 (387.2) 525 (387.2) 315 (232.3) 315 (232.3)
M48 x 2 32 (1.260) 36 (1.417) 630 (464.7) 630 (464.7) 396 (292.1) 396 (292.1)

* S-Series connectors are used with O-Ring Face Seals (ORFS).

** L-Series connectors are used with 37° flare.

48063612 04/05/2018

15




INTRODUCTION

Torque values for Inch O-Ring Boss (ORB) port non-adjustable connections

S-Series * L-Series **
Inch tube Ferrous Non- Ferrous Non-
SAE UN/UNF oD N-m (lb ft) Ferrous N-m (Ib ft) Ferrous
dash size | thread size mm (in) +10% N-m (Ib ft) +10% N-m (lb ft)
+ 10% +10%
2 5/16-24 3.18 (0.125) — — 8.5 (6.3) 5(3.7)
3 3/8-24 4.76 (0.187) 15.5 (11.4) 9.3 (6.9) 10.5 (7.7) 6.3 (4.6)
4 7/16-20 6.35 (0.250) 37 (27.3) 22 (16.2) 19 (14) 11.5 (8.5)
5 1/2-20 7.94 (0.313) 42 (31) 25 (18.4) 26 (19.2) 15.5 (11.4)
6 9/16-18 9.52 (0.375) 47 (34.7) 28 (20.7) 32 (23.6) 19 (14)
8 3/4-16 12.7 (0.500) 89 (65.6) 53 (39.1) 53 (39.1) 32 (23.6)
10 7/8-14 15.88 (0.625) | 121 (89.2) 73 (53.8) 63 (46.5) 38 (28)
12 1-1/16-12 | 19.05 (0.750) | 178 (131.3) 107 (78.9) 100 (73.8) 60 (44.3)
14 1-3/16-12 | 22.22(0.875) | 225 (166) 135 (99.6) 131 (96.6) 79 (58.3)
16 1-5/16-12 25.4 (1.000) | 283 (208.7) | 170 (125.4) | 156 (115.1) 94 (69.3)
20 1-5/8-12 31.75(1.250) | 300 (221.3) | 180 (132.8) [ 210 (154.9) 126 (92.9)
24 1-7/8-12 38.1 (1.500) | 388 (286.2) | 233 (171.9) | 220 (162.3) 132 (97.4)
32 2-1/2-12 50.8 (2.000) | 388(286.2) | 233(171.9) | 315(232.3) | 189 (139.4)
* S-Series connectors are used with O-Ring Face Seals (ORFS).
** L-Series connectors are used with 37° flare.
Torque values for inch O-Ring Boss (ORB) port adjustable connections
S-Series * L-Series **
Inch tube Ferrous Non- Ferrous Non-
SAE UN/UNF oD N-m (Ib ft) Ferrous N-m (Ib ft) Ferrous
dash size | thread size mm (in) +10% N-m (Ib ft) *10% N-m (Ib ft)
+10% +10%
2 5/16-24 3.18 (0.125) — — 8.5 (6.3) 5 (3.7)
3 3/8-24 4.76 (0.187) 10.5 (7.7) 9.3 (6.9) 10.5 (7.7) 6.3 (4.6)
4 7/16-20 6.35 (0.250) 21 (15.5) 21 (15.5) 19 (14) 11.5 (8.5)
5 1/2-20 7.94 (0.313) 42 (31) 25 (18.4) 26 (19.2) 15.5 (11.4)
6 9/16-18 9.52 (0.375) 47 (34.7) 28 (20.7) 32 (23.6) 19 (14)
8 3/4-16 12.7 (0.500) 89 (65.6) 53 (39.1) 53 (39.1) 32 (23.6)
10 7/8-14 15.88 (0.625) | 121 (89.2) 73 (53.8) 63 (46.5) 38 (28)
12 1-1/16-12 | 19.05 (0.750) | 178 (131.3) 107 (78.9) 100 (73.8) 60 (44.3)
14 1-3/16-12 | 22.22(0.875) | 225 (166) 135 (99.6) 131 (96.6) 79 (58.3)
16 1-5/16-12 25.4 (1.000) | 285(210.2) | 170 (125.4) | 156 (115.1) 94 (69.3)
20 1-5/8-12 31.75(1.250) | 300 (221.3) | 180 (132.8) | 210 (154.9) 126 (92.9)
24 1-7/8-12 38.1 (1.500) | 388 (286.2) | 233 (171.9) | 220 (162.3) 132 (97.4)
32 2-1/2-12 50.8 (2.000) | 388 (286.2) | 233 (171.9) | 315(232.3) | 189 (139.4)

* S-Series connectors are used with O-Ring Face Seals (ORFS).

** L-Series connectors are used with 37° flare.

48063612 04/05/2018

16




INTRODUCTION

Torque values for inch O-Ring Boss (ORB) port plugs

Ferrous Non-Ferrous
SAE UN/UNF Internal hex External hex N-m (Ib ft)
dash size thread size N°m (Ib ft) N°m (Ib ft) *10%
*10% +10% ~
2 5/16-24 7.5 (5.5) 12.5 (9.2) 7.5 (5.5)
3 3/8-24 14.5 (10.7) 21 (15.5) 12.5 (9.2)
4 7/16-20 21 (15.5) 37 (27.3) 22 (16.2)
5 1/2-20 28 (20.7) 42 (31) 25 (18.4)
6 9/16-18 47 (34.7) 47 (34.7) 28 (20.7)
8 3/4-16 89 (65.6) 89 (65.6) 53 (39.1)
10 7/8-14 116 (85.6) 116 (85.6) 70 (51.6)
12 1-1/16-12 176 (129.8) 176 (129.8) 106 (78.2)
14 1-3/16-12 247 (182.2) 247 (182.2) 148 (109.2)
16 1-5/16-12 284 (209.5) 284 (209.5) 170 (125.4)
20 1-5/8-12 357 (263.3) 357 (263.3) 214 (157.8)
24 1-7/8-12 441 (325.3) 441 (325.3) 265 (195.5)
32 2-1/2-12 536 (395.3) 536 (395.3) 322 (237.5)
Torque values for four-bolt flange connections (Metric Screws, Class 10.9)
Metric size | Imperial size | Screw code orek il Screw code sEel i
i - o N-m (Ib ft) e N-m (Ib ft)
+10% + 10%
13 1/2 M8 x 1.25 34 (25.1) M8 x 1.25 34 (25.1)
19 3/4 M10 x 1.5 74 (54.6) M10 x 1.5 74 (54.6)
25 1 M10 x 1.5 74 (54.6) M12 x 1.75 137 (101)
M12 x 1.75 137 (101)
32 1-1/4 M10 x 1.5 74 (54.6) M14 x15 189 (139.4)
38 1-1/2 M12 x 1.75 137 (101) M16 x 2 310 (228.6)
51 2 M12 x 1.75 137 (101) M20 x 2.5 575 (424.1)
64 2-1/2 M12 x 1.75 137 (101) M24 x 3 575 (424.1)
76 3 M16 x 2 310 (228.6) M30 x 3.5 680 (501.5)
89 3-1/2 M16 x 2 310 (228.6) - -
102 4 M16 x 2 310 (228.6) - -
127 5 M16 x 2 310 (228.6) - -
Torque values for four-bolt flange connections (Metric Screws, Class 8.8)
Metric size | Imperial size | Screw code Code 6l Screw code Codeio2
mm in 61 N-m (lb ft) 62 N-m (Ib ft)
+10% + 10%
13 1/2 M8 x 1.25 29 (21.4) M8 x 1.25 29 (21.4)
19 3/4 M10 x 1.5 57(42) M10 x 1.5 57(42)
25 1 M10 x 1.5 57(42) M12 x 1.75 100 (73.8)
M12 x 1.75 100 (73.8)
32 1-1/4 M10 x 1.5 57(42) V14 x 15 160 (118)
38 1-1/2 M12 x 1.75 100 (73.8) M16 x 2 250 (184.4)
51 2 M12 x 1.75 100 (73.8) M20 x 2.5 500 (368.8)
64 2-1/2 M12 x 1.75 100 (73.8) M24 x 3 575 (424.1)
76 3 M16 x 2 250 (184.4) M30 x 3.5 680 (501.5)
89 3-1/2 M16 x 2 250 (184.4) - -
102 4 M16 x 2 250 (184.4) - -
127 5 M16 x 2 250 (184.4) - -

48063612 04/05/2018

17




INTRODUCTION

Torque values for four-bolt flange connections (Inch Screws, Grade 8)

< . Code 61 Code 62
Metric size | Imperial size | Screw code Screw code
mm in 61 N-m (Ib ft) 62 N-m (Ib ft)
+ 10% +10%
13 1/2 5/16-18 34 (25.1) 5/16-18 34 (25.1)
19 3/4 3/8-16 63 (46.5) 3/8-16 63 (46.5)
25 1 3/8-16 63 (46.5) 7/16-14 97 (71.5)
32 1-1/4 7/16-14 97 (71.5) 1/2-13 158 (116.5)
38 1-1/2 1/2-13 158 (116.5) 5/8-11 310 (228.6)
51 2 1/2-13 158 (116.5) 3/4-10 473 (348.9)
64 2-1/2 1/2-13 158 (116.5) - -
76 3 5/8-11 310 (228.6) — —
89 3-1/2 5/8-11 310 (228.6) - -
102 4 5/8-11 310 (228.6) — —
127 5 5/8-11 310 (228.6) - -

Tapered thread connection tightening

British Standard Pipe Taper
(BSPT) thread size (inch)

National Pipe Thread Fuel
(NPTF) thread size (inch)

Turns from finger tight

1/8-28 1/8-27 2-3
1/4-19 1/4-18 2-3
3/8-19 3/8-18 2-3
1/2-14 1/2-14 2-3
3/4-14 3/4-14 2-3
1-11 1-11 1/2 1.5-25
1-1/4-11 1-1/4-11 1/2 1.5-25
1-1/2-11 1-1/2-11 1/2 1.5-25
2-11 2-111/2 1.5-25

Torque values for banjo bolt connections (Copper washer style)

Bolt thread (metric)

Hex size (mm)

Torque N-m (Ib ft) + 10%

M8 x 1.25 13 13 (9.6)
M10 x 1.25 17 16 (11.8)
M12 x 1.5 17 40 (29.5)
M14 x 1.5 19 45 (33.2)
M16 x 1.5 22 48 (35.4)
M18 x 1.5 24 50 (36.9)
M20 x 1.5 27 73 (53.8)
M22 x 1.5 32 73 (53.8)
M24 x 1.5 32 73 (53.8)

48063612 04/05/2018
18




INTRODUCTION

Torque values for O-Ring Face Seals (ORFS) connections

* *%
. Hex size . .
5| e | cnune | e | " | sutt s | s
size | threadsize | OD(mm) | o5 0 (Re;‘:";e;‘ce N-m(lbft) | N-m (Ib ft)
y +10% +10%
4 9/16-18 6.35 6 17 27 (19.9) 27 (19.9)
5 5/8-18 7.94 8 19 34 (25.1) 34 (25.1)
6 11/16-16 952 10 22 44 (32.5) 44 (32.5)
8 13/16-16 12.7 12 24 65 (47.9) 65 (47.9)
10 1-14 15.88 16 30 100 (73.8) 100 (73.8)
12 1-3/16-12 19.05 20 36 150 (110.6) 131 (96.6)
14 1-5/16-12 22.23 22 41 163 (120.2) 131 (96.6)
16 1-7/16-12 25.4 25 41 210 (154.9) ** | 131 (96.9)
20 1-11/16-12 31.75 30 50 280 (206.5) *** 178 (131.3)
24 212 38.1 38 60 375 (276.6) *** | 210 (154.9)

* High/Medium-pressure applications > 50 bar (725 psi).

** Low-pressure applications < 50 bar (725 psi).

*kk

Torque values for 37° flare connections - Joint Industry Council (JIC)

It is recommended to use a four-bolt flange connection instead of O-Ring Face Seals (ORFS) sizes "16" and up.

(?ap;li UN/UNF I\Itlsgéc Inch tube Swivel nut torque
. . (V)
size thread size OD (mm) OD (mm) N-m (Ib ft) £ 10%
2 5/16-24 — 3.18 8.25 (6.1)
3 3/8-24 — 4.76 11.5 (8.5)
4 7/16-20 6 6.35 15.5 (11.4)
5 1/2-20 8 7.94 20 (14.8)
6 9/16-18 10 9.52 25 (18.4)
8 3/4-16 12 12.7 52 (38.4)
10 7/8-14 16 15.88 81 (59.7)
12 1-1/16-12 20 19.05 112 (82.6)
14 1-3/16-12 - 22.22 133 (98.1)
16 1-5/16-12 25 254 155 (114.3)
20 1-5/8-12 30/32 31.75 180 (132.8)
24 1-7/8-12 38 38.1 225 (166)
32 2-1/2-12 50 50.8 348 (256.7)
Torque values for 30° flare, 60° cone connections
Nominal B"tF',Sh ?ItalngasrgPPlpe H . Swivel nut torque
size (mm) e Sl [0 N-m (Ib ft) £ 10%
thread size
5,6,6.3 G 1/4 17 25 (18.4)
8,9, 10 G 3/8 19 34 (25.1)
12,12.5 G 1/2 22 64 (47.2)
15, 16, 19 G 3/4 30 132 (97.4)
25 G 1 36 196 (144.6)
31.5, 32 G 1-1/4 46 225 (166)
38 G 1-1/2 50 255 (188.1)
50, 51 G2 65 316 (223.1)

48063612 04/05/2018
19




INTRODUCTION

Consumables

System

Volume

Recommended fluid

International
specification

Motor
With filter change
Without filter change

24 L (6 US gal)
21L (6 US gal)

CASE IH AKCELA NO. 1™ ENGINE
OIL CI-4 SAE 15W-40

API Cl-4, CES
20078, ACEA E7

Fuel tank

640 L (169 US gal)

Diesel fuel or Biodiesel

Fuel system additive

6.4 L (1.7 US gal)

Cooling system

44 L (12 US gal)

* 50% demineralized water * / 50%
CASE IH AKCELA ACTIFULL™ OT

OAT Glycol ASTM

EXTENDED LIFE COOLANT D3306
Air Conditioning System
Refrigerant 1.7 kg CNH RE('::EISE;AA&T;EC'1 34a HFC-134a
Compressor oil 0.22 L (0.06 US gal)
Windscreen washer reservoir 9L (2US gal) TUTELA PROFESSIONAL SC35 -

Hydraulic system
Total capacity

600 L (159 US gal)

CASE IH AKCELA AW100 HYDRAULIC

Reservoir capacity 480 L (127 US gal) FLub
Pump drive gear box 1.6 L (0.4 US gal) CASEIH AKCEL?LG\:\Q 00 HYDRAULIC -
Chopper gearbox 7.5L (2.0 US gal) CASE IH Aﬁ%i":‘s‘?faﬁ LUBE 133 -
. 3.6 L (1.0 US gal)+/- | CASE IH AKCELA GEAR LUBE 135 )
Wheel hub reducer (per unit) 10% H EP 85W-140
. CASE IH AKCELA GEAR LUBE 135
Base cutter drive gearbox 9.5L (2.5 US gal) H EP 85W-140 -

Auto Tracker hydraulic

suspension system — Volume 0.5L CASE IH AKCELA TCH FLUID -
on visual scale

_ ; CASE IH AKCELA 251H EP
Grease Fittings As required MULTI-PURPOSE GREASE NLG1 2-251 EP-M
FRM roller bearing journals 15 CASE IH AKCELA 251H EP NLG1 2-251
(per unit) 9 MULTI-PURPOSE GREASE EP-M-
* If demineralized water is not available, the water must have the following features:

Solids Chlorine Sulphates pH
340 ppm 40 ppm 100 ppm 55-9,0

48063612 04/05/2018

20




INTRODUCTION

The correct engine oil viscosity grade is dependent upon ambient temperature. See the table below for the recom-
mended viscosity at different ambient air temperature ranges.

I ?AE I5W3? I
SPI«E 1(|)W - I30 | |
SAE 15W-40
-40 °C -30°C -25°C -15°C 0°C 10 °C 20°C 30°C 40 °C 50 °C
-40 °F -22 °F (13 °F) (5°F) 32°F 50 °F 68 °F 86 °F 104 °F 122 °F

In environments with extreme air temperatures that require long periods of use of the machine, use SAE 50 oil for
extremely high temperatures and SAE 5W30 for extremely low temperatures.

48063612 04/05/2018

21



INTRODUCTION

48063612 04/05/2018
22



CASE Hi

AGRICULTURE

SERVICE MANUAL

Engine

8010 FPT engine, TIER 3 - SR - Latin America [PRCY8010KHPA03554-
-], 8010 FPT engine, TIER 3 - SR [PRCY8010KHPA03554- - ], 8010 FPT
engine, TIER 3 - SR - International [PRCY8010KHPA03554- - ], 8010 FPT
engine, TIER 3 - SR [PRCY8010KHPA03554- - ], 8810 FPT engine, TIER
3 - SR - Latin America [PRCY8810CHPA03579- - ], 8810 FPT engine,
TIER 3 - SR [PRCY8810CHPA03579- -], 8810 FPT engine, TIER 3 - SR -
International [PRCY8810CHPA03579- - ], 8810 FPT engine, TIER 3 - SR
[PRCY8810CHPA03579- - ]

48063612 04/05/2018
10



Contents

Engine - 10

[10.001] Engine and CrankCase ...........o.uuiiuiitii et ettt aaes 101
[10.216] FUEItaNKS . ... et e e e 10.2
[10.206] FUel fiers ... e e et 10.3
[10.202] Aircleaners and lINES . ... e e et 10.4
[10.400] Engine cooling SYSteM .. ..ot 10.5
[10.414] Fan and drive . ...t e e e e e 10.6
[10.310] AftEICOOIET . . ...\ttt e e e e 10.7
[10.304] Engine lubrication System . ...... ... . i 10.8

48063612 04/05/2018
10



CASE Hi

AGRICULTURE

Engine - 10

Engine and crankcase - 001

8010 FPT engine, TIER 3 - SR - Latin America [PRCY8010KHPA03554-
-], 8010 FPT engine, TIER 3 - SR [PRCY8010KHPA03554- - ], 8010 FPT
engine, TIER 3 - SR - International [PRCY8010KHPA03554- - ], 8010 FPT
engine, TIER 3 - SR [PRCY8010KHPA03554- - ], 8810 FPT engine, TIER
3 - SR - Latin America [PRCY8810CHPA03579- - ], 8810 FPT engine,
TIER 3 - SR [PRCY8810CHPA03579- - ], 8810 FPT engine, TIER 3 - SR -
International [PRCY8810CHPA03579- - ], 8810 FPT engine, TIER 3 - SR
[PRCY8810CHPA03579- - ]

48063612 04/05/2018
10.1 [10.001] / 1



Thank you so much for reading.
Please click the “Buy Now!”
button below to download the

complete manual.

After you pay.
You can download the most
perfect and complete manual In

the world immediately.

Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/case-ih-a8010-a8810-sugar-cane-harvester-service-repair-manual-instant-download-part-number-48063612/

	Button1: 


